
TABELA ROBÓT ZIEMNYCH str.1

Zużycie
wykop nasyp wykop nasyp wykop nasyp na

(+) (-) (+) (-) (+) (-) miejscu

m m3

1 2 3 4 5 6 7 8 9 10 11 12 13

1.
0 0,00 2,70 0,00

2.
0 50,00 0,46 0,44

1,58 0,22 50,00 79,0 11,0 11,0 68,0  

3.
0 100,00 0,00 2,38

0,23 1,41 50,00 11,5 70,5 11,5  59,0

4.
0 150,00 0,43 0,42

0,22 1,40 50,00 11,0 70,0 11,0  59,0

5.
0 200,00 0,00 1,11

0,22 0,77 50,00 11,0 38,5 11,0  27,5

6.
0 250,00 1,09 0,12

0,55 0,62 50,00 27,5 31,0 27,5  3,5

7.
0 300,00 0,39 0,59

0,74 0,36 50,00 37,0 18,0 18,0 19,0  

8.
0 350,00 0,92 0,19

0,66 0,39 50,00 33,0 19,5 19,5 13,5  

9.
0 400,00 0,12 0,62

0,52 0,41 50,00 26,0 20,5 20,5 5,5  

10.
0 450,00 0,32 0,63

0,22 0,63 50,00 11,0 31,5 11,0  20,5

11.
0 500,00 0,00 1,31

0,16 0,97 50,00 8,0 48,5 8,0  40,5

12.
0 550,00 0,36 0,48

0,18 0,90 50,00 9,0 45,0 9,0  36,0

13.
0 600,00 1,04 0,15

0,70 0,32 50,00 35,0 16,0 16,0 19,0  

14.
0 650,00 0,77 0,61

0,91 0,38 50,00 45,5 19,0 19,0 26,5  

15.
0 700,00 0,51 0,53

0,64 0,57 50,00 32,0 28,5 28,5 3,5  

16.
0 750,00 0,65 0,32

0,58 0,43 50,00 29,0 21,5 21,5 7,5  

17.
0 800,00 0,33 0,49

0,49 0,41 50,00 24,5 20,5 20,5 4,0  

18.
850,00 0,00 0,79

0,17 0,64 50,00 8,5 32,0 8,5  23,5

19.
900,00 0,97 0,17

0,49 0,48 50,00 24,5 24,0 24,0 0,5  

20.
950,00 0,33 0,50

0,65 0,34 50,00 32,5 17,0 17,0 15,5  

21.
990,00 1,90 0,00

1,12 0,25 40,00 44,8 10,0 10,0 34,8  

RAZEM: 540,3 592,5 323,0 217,3 269,5
Obliczenia są poprawne.
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